
     
 

 

 

Question Answer Marks AOs Guidance 

1 (a) (i)  M1 1.1 A horizontal translation only is seen  
   Coordinates (−3, 0), (−1, 0) and (−2, 2) 

seen 
A1 1.1   

    [2]    
1 (a) (ii) Reflection in the x-axis B1 1.2 Must be a complete statement  
    [1]    
1 (b) (i) (2, 12) B1 1.1   
    [1]    
1 (b) (ii)  1

2 , 3  B1 1.1   

    [1]    
2   DR 

 
 

 

 

 

 
    

 
      
 

         
              

       
    

    
   

               

               
        
 

 

 

 

 

 

 

 

 

 

   

 

 

 

 

    


